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REDUIRE EXPRESSION 4EME -

Classe de 4¢

Exercice 1
Réduire les expressions littérales suivantes :
pl. A=-10y>—-8—8y— (—yQ) —Ty—(=7)

»2. B=-9d>—-6d+8d*>—-9d—5+38
»3. C=-5d—3d>—-3d*+2—-5—-2d

Exercice 2
Réduire les expressions littérales suivantes :
1. A=2—-¢>-5+10g°-2g+6g

»2. B=6—(—6¢)— (—10)—10c+9c* — (—6¢?)
»3. C=8—(-82%)—32—-10— (-72%) +3z

Exercice 3
Réduire les expressions littérales suivantes :
»1. A=62%-9— (-32?) — (—4z) -5z +1

»2. B=-9+5a?>—-a?>—-5a—(—6)—8a
3. C=—-1+2h+4h?>—(-6)—Th?>—-5h

Exercice 4
Réduire les expressions littérales suivantes :
1. A=-8—(—6q)—2—(-10¢%) +2¢—9¢°

»2. B=—-2a+5a®>— (-5a*) —9—(-3)—6a
»3. C =6a®>—(-5a) — (—6) —a— 6+ 4a?

Exercice 5
Réduire les expressions littérales suivantes :
1. A=—4m—1—-1—4m+3m?—5m?

»2. B=4n+9n?—4n?—n—(-2)—(-2)
3. C=6p—6p> —2p>+2—4p—1

Exercice 6
Réduire les expressions littérales suivantes :
»1. A=7—(-7v?) —3v—(—Hv)—4v? -5

2. B=1> -8 —Tt—1—(=5t)+ 7t
»3. C=—-Tm?-3m—2m?—(—6)+3—(=5m)
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D=4gx5x(-8g)—10g> -9
E=-6¢"—(—6)x6gx(=3)x(~Tq)
F=-3f2—(=10f)x10f x (—4) x (—6)

D=-5xwx (=5)+10w? — (—2w)
E=-Tk—6k?>—6x(-3)x9%k
F=h?>-10h x 3h x (=4) x (=9)

D =nx10n x (—8) x 10 + 10n?
E=2mx (—=4m)—9m?—4x 10
F=—-4f24+9fx(-4) x (-6)x6f

D=—-9k>— (—4) x (=3k) x 6k x (—1)
E=-2x(—6)x3sx(—3s)—4s?
F=-3dx10x2—(-3d%) —5d

D=4x8xx(-9)—32> -9z
E=-102% - (-82) x 1 x 92 x 8
F=—-10pxp—2p>+7x1

D=-Tux1xT7ux4—(-4u?)
E=-3d+3d>+9dx (—6) x 1
F=6ax(—4)x(-9a) — (—8a%) —5
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